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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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07:45 278 150.0 & =| 1Ri%e07:45 Bz (kAEREE)
09:20 278 150.0 [Z=| 1BRiZ@09:20 Bzh (REERESE)
10:25 278 150.0 (% =| 1Ri%@10:25 Bzl (REERSE)
11:30 278 150.0 =l Ri%e11:30 B3 (RFAERSE)
12:30 278 150.0 E| {Rig012:30 B3h (GRE{ERSE)
13:30 278 150.0 5| 1Ri%e13:30 B (KRFAERSE)
14:25 278 150.0 =l {Rige14:25 B3 (RAERSE)
15:20 278 150.0 E BRi&e15:20 Bz (GRAEREE)
21t 2502.0 (97%) 1350.0 3 WHKEC: 2080.0, PH: 6.0

FEREBIEC (2660.0) H5iZFEEC (2000.0) REK KA, HHRE

1#[EKECE (2660.0 vs 4080.0) RS
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=49 (2025-05-17)
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00 20
Warning: lcol [FVI',| "FVO’'] missing
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- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-5

BFE) | GEBRTIK () | S (EFH/F) | XS R

07:15 278 150.0 B Rige07:15 Bzl (REERSE)
07:50 278 150.0 =] {Ri%@07:50 B (REARREESE)
09:25 278 150.0 [ =| {Ri&e09:25 B (REAERESE)
10:30 278 150.0 & =| 1Ri%@10:30 Bzh (KRAHERESE)
11:25 278 150.0 | =| Ri%e11:25 Bz (kAEREE)
12:15 278 150.0 (& =| {Ri&e12:15 B (REAERSE)
13:10 278 150.0 & =| 1Ri%@13:10 Bzh (RAHERESE)
14:05 278 150.0 | =| 1Ri%e14:05 Bz (kAEREEE)
15:00 278 150.0 (£ =| {Ri&e15:00 B (REAERESE)
21t+]2502.0 (97%) 1350. 0 3203 %EC: 2080.0, PH: 6.0

FEREBIEC (2660.0) H5iZFEEC (2000.0) REK KA, HHRE

##[ERECE (2660.0 vs 3990.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=48 (2025-05-16)

T e g g g S S B S g g
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Warning: lcol ['FVI’,

"FVO' ] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=430, FV0=0 m=475, FV0=0 m=530, FV0=0

45
—e— ME —e— ME —e— ME —o— ME
45.5 - 45.5 1
44
450 4 45. 0 1
43
44.5 1
44.5 -
42 - 44.0 A
44. 0 -
41 - 43.5 A
43.5 1
T T T T T T T T T T T T T
600 800 1000 430 435 440 475 480 485 530 535 540
m=570,m FV0=0 m=625,m FV0=0 m=680,m FV0=0 m=725,m FV0=0
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—o— ME —o— ME : —e— ME —o— ME
45 445 4 44.5 -
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7 43.5 - 43.5 1
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42.5 1 42.5 -
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T T 42 B T T T T T T T T T
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m=765,m FV0=0 m=810,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
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42 5 - 42 5 .
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T T T T T T T T 41 N 5 B T T T
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34 4 32.0 33.5
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—0—

M_w

570

T T
575 580

m=765,m FV0=0
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P3-5

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:05 273 150.0 & =| 1Ri%@07:05 Bzh (RAHEEE)
07:35 273 150.0 [ =| {Ri%e07:35 Bz (REAERESE)
09:10 273 150.0 FA| {Ri%@09:10 Bzl (RkAMEEE)
10:10 273 150.0 El BRi&e10:10 Bz GRAEREE)
11:00 273 150.0 =l {Rige11:00 B3 (RAERSE)
12:05 273 150.0 El BRige12:05 Bz (GRAERESE)
12:55 273 150. 0 E| {Rige12:55 Bzh (RE{ERESE)
13:55 273 150.0 E BRige13:55 Bz (GRAERSE)
14:45 273 150.0 | Ri%e14:45 B (REAHRESE)
15:40 273 150.0 F BRige15:40 Bz CGRAERESE)
21t 2730.0 (100%) 1500. 0 EWHKEC: 2080.0, PH: 6.0

REREBIEC (2715.0) HigZEEC (2000.0) REK K, HHE

#HERECE (2715.0 vs 4155.0) 1R S




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=47 (2025-05-15)

R S i e ialad
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2124
1800 812 [ 2000

100 A

1056 174
890 L 1000

50 - 48
40

FRV (ml d-1)

60 Warning: lcol [FVI',| "FVO’'] missing

200 3

150 -

100 -

50 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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